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INSTRUCTIONS TO CANDIDATES

Read the following instructions carefully before you
open the question booklet

1

4.

" response then answer like this.

- Aseparate OMR Answer Sheetis supplied for wriling

the answers. Writedown your application from no. &
11 digit roll number on it as per your Admission Card
and darken the apprapriate circles on the answer
shest..

. Check that set code (A,B,C orD ) is printed onthe
booklet and indicate your set code by blackening
the appropriate circle inthe OMR answer sheet.

. Do not write anything In thisBookiet except the Roll

No. Howaver you can use the blank pages provided
for the roughwork atthe end of thisbooklet.

Start answering when you are told to do so. Do not
turn the pages before that.

.-Answer all the questions.Each question has four
probable answers of which one is correct. You have to
choose the correct one and blacken your choice in the
OMR answer shest by a black/biue ball point pen.
Use of pencil is not allowed. If your choice is secdnd

000

. For wrong answer, there is no deduction of marks.
One mark shall be awarded for each cormect
response. '

“No. Mark will be awarded for a question ¥ a
candidate darkens more than one cholce.

. Retumn the Answer Sheet only to the Invigilator es
soon as the final bell rings. Ask for another Booklet if il
is defective, befare you starl answering.

. English version of the gquestion paper will be
considered as final if any dispute arises in the
translated version. :
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: . 0 ] '
1f coso+ V3sind= V2 and 0'<0<180°then 1. £R coso+35in6=2 0 <8<180" EGSR,

whatis 8equalto?
A. 15° or 108"
B. 35 orlls"
c. 25%r110°
D. 40°0r125°

. 'If (X)=sin X + cos x, then whit Is maximum 2.

velueof f(x)?
Al |
B &
C..Jf3

b. 2

How much is themnf the measnres of all the

interior angles of: npentagon?

A..95°
B. 9%’
C. 108
D. 1_29° :

/]

. IfA -1, l) and B (3,-1) are the end pomts of nmf

"side AB of square ABCD, thién how many units
will be thelength of one ofits diagonals?

A, 10
B. 10
C. 40
D.Jao

. - “Whatis the ratio in which the.x - axis divides the
line segment joining the points (3, 4) and (2,6)
internally?

A. 23
B. '3:2
~C. 43
D. 34

6 QAINEREE ?
A. 15" @ 108

B. 35" @ 115

c. 25" Q110"

D, 40° @ 125"

g8 £(x)=sinx+cos 1EXER, { (x) L ATIR IAY
6060 ? |

Al

-

C. 3
D. 2
<@ CEQER UMY 28Q SHICNRE TRMER
FRMAIA6R6Q 7 '
05?

9

188’

126°

YU ow e

4. ﬂﬁA(—!,l)@Bﬂ.-i}ﬁﬁﬁ‘ﬂ@é@g ABCBS

QIg AB A 15¢R 228, 586Q $RiIG ST Iadn
6BLIEREE NRAERR P

A. 16

B. Vio
C. 40
D. Va0
@, 4 8 2, 6) 90 QAR TEENR CAUNSG
x-aaeeaateﬁi@saasﬁamasa ? '
A, 23

B, 32 _

C. 43

D. 3:4'-

$55 - 2071718 - 9 ‘



6.

-A. 15

The ratio of the helght of a pitlar and its shadow
cast on the ground during a dayis 1:/3. .

What is the elevation of the sun at that time?
0

B. 30
0

C. 45
D. 60°

If the product of five consecutive integers is
equal to one of them, then which greatest
possible integer is likely to be contained in
them?

Al

B. 4

C. 6

D, 10

6.
1 2° " * =32, then what isthe value of 3° 2

‘A 7

B. 9

C 2

D. 81 -

How many integers occur between 10 and 200 9.

. whichare exactly divisible by 7 _?‘

A.
B. 25

27

Co23

10-.

D. 21

If o and B are the roots of the equation ;o

33 -Tx=-3= ﬁ,‘theil what is the value of (c+3)
B+)H? .
A. 10

"B, 12

. C.LIs

Dy 13';.?: ;

7.

'8l

@

- D.

U 0w p

sa109 Gaa 4@ FUS draea 6aIf Sae

Q06 8 QF QUse CIRIR BIRR &7

ARG 1;/3 2U66'16QE AR Qiea 8RS
a6 7

A 15

B. 30"

c. 45

D. 60°

oF aEsaIR @fe qd dia GaTR AR

FrIg 66188 A2 AFIR Y, 6069 6a6! QReF
gderay saripe FiSR R TR ?

Al o

B. 4

C. 6

10 o
0962° =32 24, 66603’ A 'ARY 6766 ?
AT

.BI 9
T Co21

D. 81

10 8 200 FRIGR YO Gd TeNIAR@ FRISR
6R60IE eyl 7 QIR deue P

21

25

‘23

.21

ad 2x* - 7x - 3 =0 ANGRER MRQR o GP -
826, 6069 (0 +3) (B +3) RFINEREE ? '
A 10
B. 12
C.'15
D. 18

$85 - 2017-18 - ¢



12

13

14

_J'+J' v A Jﬁ+f

o 0-® >

; |
X-2x-37

A, x+l

[ N v |
® o ®
T
wH

=
>
{

w

- What value will be obtnmed on slmplifying

1 1 -1

J_?

3+5
3.45 .
3

&

follomngcondltxons a 4p reducesmzem v
A a>l],b>0

B. a=0,b=0"

C.§<Q5>d

D.  a>0, b<0

. What should be subtracted from éach one of 14. 21 38, 55‘3106 ﬂlﬁﬁ‘qmﬁﬂﬁfﬁl’ﬁql 58'4]0 QsR.

21,38,55 and 106, 30 that the results

subtractluns will bepmporﬂonai"

- 5 1. . 3 .2 2 : ‘ oA :
. What 15 the HCE of fiddx6aid 1l XX—4x68 xhz;_p-saa:a!&sﬂge,g

x+1

g o w »

P U N . Y
T0AGER, 6360 FRe ?

A 3+5 |

B 3-45

T

D. 543. |

If‘a’and b’ are real numbers, for which ofthe. - 13. ‘a’G ‘b 9139 El'ﬂ'ﬂ 625!?19! 68866, frgeast

caemia n+h amqas&e?
| A a>0,b>0'
. B: a=0,b=0
C.. Ial<6,'b,>'0' .

- D..2>0,b<0
! Geancrefedmpaeisese 2

A 4
Y
.4_

B. 2
c.. 6
|

D "5'2"

(5) <. JS557 2017185 C



15.

16.

'B.

17,

A

58

'Dn

In the given figure, ABCD is a square in which
M and N are the mId-points of the sides AB and

AD respectively. How many square units is the
area of MNDB quadrilateral, if each side of the

15. eQPEERABCD ¥@ a6 IM BN OAIRSH

AB' GAD QIRQAQ FRISE | 6F odesea geetR
PIRA 6F6Y 2 NRR 9, 5OEF MINDB FEEIeR .

SBIGCHA 6R6E 9 YRR 6RQ 7
square is 2 units long? . .
A M B
N
D C
A 10
A 10 B. 15
B. 1,5 C. 20
C. 20 D. 25 o
D. 25 .- . _ 16, 66K QAORQ U gpea S3die and
‘The sum of the Jengths of all the edges of a cube =

is 6 cm. Then what s the volume of the cube in
cubiccentimetre? -

o= o) Sl—glu

" increased by 100%, then what will be the

'pemnﬁlge fncreaseinits area?
A. 100
B. 200
C. 1300
D. 400

A
.G

Ifeach of the length and bréadth of a rectangleis 17.

E: 16]_

B!

v oo w »

662.0.1606¢ OF 60EACR ¥arca AraRta

2AREH CREH 68D 7

D.

06 st Baceaea 684 @ 9g geee
100% Q0N 6067 NRIQCERURR F60FIQR

. 6R6O6ET 7

100
200
30a
400

888 - 2017-18 -C



18. Inthe given figure, STIFQ and
: the area of APST Is 45 sqem, then what is t

19,
" XYZ and PQ
o mzxyz==39 whatis the measure of ZPXY?

g 0w

3

PQ 5

areaof the trapﬂium STRQinsqcmunit?

A, 60

“B. 80

C. 100
D. 125

In the given ngure. 0 is the centre of the circ (3

‘30.'
Ca5

o0°

T

is .the tangent at X.

P

A
B

. G
D.

'_
b

125

A 18, e@@gsa, ST| PQ "
e . 6560 45 od6afl 625R, GIARAF STROR
caBOREREe R6a.f.680 7

B. 80
.nl.m'

PS 3

—

P05 | APST &

.19, _eaﬁesaqmmq,aasegowxﬁqsa L
If . qeéla QP e cea@ POy m/XYZ=30"
6R6R, axyaaﬁqzasese 7

585 - 2017185 ¢



20. Inthegiven figure, s is a median of AABC.

If AD=4 cm, BD=3 cm and AC=5 cm, then what

.

20. €& g6, AABC R AD @ fRiHl a8

" AD=4 63.A1,, BD=3 628, @ AC=5 626, 24,

is the aréa of AABCinsqem? 6668 AABC QEHEUR 6060 9d6aA. ?
A ) )
B C
D
A 9
A9 |
B. 12
B. 12
C. Is
c. 1S
D. 16
D. 16

5 o
21. 1f the density of water at 4'C is 1 gm/cc In
C.G..S, units; how much would it be in MK.S.

‘units?
A, lkglee
B. Ik’

C. 100kg/m’

D. 1000kg/m’

:22. Acar travels with a constant speed of 30 km/hr

for 15 min. and fhen quickly speeds up to
50 km/hr to be maintained for 30 min. Then its
averagespeed in km/br would be;

A. 43.33km/hr

B: 40 km/hr

C. 45km/hr

D. 50km/hr

21,

®

£C SIOMIGIEA ORR DO C.G.5. ¥eesa
1 gm/cc 626R MK.S. QA6 <@ 6966
62e 7
A. lkg/ec
B. lkg/m’
C. lll)CIkgfrﬂ3

D.- 1000kg/m’

22. NQ QIR 99 g6 30 km 62668 15 HRE, 96

QRITER 25411 BI6 606Q 0% 95 50l § 0
eﬁsaﬁeoasasoﬁm'ma@eml
er'eesn eofa el 6o ael ge sase
demific 620 ?
A. 4333 km/r
B. 40km/hr
C. 4Skm/hr
D. 50km/hr

$55-2017-18 - €



23. A bullet fired Into a wall loses half of its fnitial 23, @ QIS1RY AEY RS ANBIRYS R °4Q GRS

25,

26.

speed after entering through lem into the wall.
How far further can it move before coming to
rest?

A 12em

B. 1/3cm

C. 23cm

D. lcm

Train A of length 120m moving with a velocity
20 m/sec is about to cross another train B of
length 130m, moving towards it from opi:ésite
direction with a speed of 30 m/5ec, Then find th;a
time duration during' which the trains would
cross gach other.

A. 36sec.

B. S5see.

C. 38sec.

D. 40sec.

A pump draws 1000kg of water per minute from
awell 12m deep, Then the power of the pump in
H.P. unit would be very nearly equal. to_;____
(given g=10 m/s")

A 20

B. 23

C. 2.63

D. 2.5

A sound wave of frequency 1KHz takes
10/3 seconds to frave! a distance of 1. km. Then
its wavelength would be___

20cm

B. 200cm.
C.

D. 30cm

A

300cm

25.-

26.

IRR 1em QGG 06Q DIRIR 6961 gIafe
6998 2RI 6EINYSR; AT 2R 6658 AR
e de?

A. 1/2cm
B. 1/3tm
C. 2f3cm

D. lem

. 120 fio'e 6By TAS 9@ 6ER A7, 20 mfsec
60060 6F KQAUIETSR TORE TS 30 misee

6096Q 2ER! 130 AIFQ 6THQ 201 IR 66R
‘B Q2TRAGEIG 6060 QAR RITR 7.

. 36sec.
Ssec.

‘38 sec.

40sec.

<@ oft 12 A daea & g2 9 Afesa
1000 kg & G QOIRIERI 6069 UfFa
IR SO0l 2AgeS (H.P.) M6 6R6E
68¢ | 40I6Q (g=10 m/s)

oo v p»

A 20
B. 23

C. 2.63

D. 2.5

¥R YR C0CTa QS 1KHz 2661 1 km QoS!
26QF QAQIg % ¥R] 103 6I6RY MI6T,
606 EIN CRET 6FEY6R6E 68 ?

A. 20cm
B. 200cm
C. 300cm.
D

.. 30em

$55-2017-18-C



27.

28.

29.

30.

Abody when floats in water; 1/3 rd of its volume

remains outside water. When it floats in another

liquid, 3/4th of its volume remains outside the
liquid. Then the density of the liquid is;

A 9 glec
= 5

B. 8 ghe
3
C. 4 gjcc

D.%g/cc

An object is placed on the 2F position of a
convex lens. T;e fnagniﬁcation (m) produced by
thelensis;

A m>1

B. m<l]

C. m=l

D. Noneofthese

A bi-convex lens is split vertically into two equal

27. R 998 GREA QISRIEO6R YZIR UACFA IF

zal

29.

parts so that two plano-convex lemses are

formed. If the focal }ength of the bi-convex lens
be "l'.’, then thé focal length of each of the
plano-cnnvci lenses would be;

A f

B. 2

C. 2f

D o

Which of the following statements is correct for -

aconcavemirror?
A. Alwaysproduces real image only

B. Alwaysproduces virtual image only
C. Canproducereal and virtual images
D

. Cannotproduce real image atall.

GPIArs oR QUR] 2| 88 3Bl 2Ry 98
earaeiicn ISRISOsR LI ZACAR (3/4)
Qe ean aeld aaeq 9| 6669 €9
FRRARIIR QARG Q66 ?

% glee
Y,
- gice
3

4 p/cc

g o0 ® »

3
= gfce
s ¥

NG R8R AORFR 2F JIFEA 4@ 09 Qslicml |

wia gita adisemay «oa RNy

afeds (m)62e;
A. m>i

B. m<]

C. m=1

D. RO6UDERGE Q6L

aa € AARVER ARA YOI (bi-convex) U@
ORI MA GICSA TAIR 2RNIS RAIGRI IR
QeEaIe Oerle qisonll BITIER e eIy

. QreR ¢ ZRiaied Qerl 0F AR aoReda

(10}

30.

ETRQ QRO ‘P, 6060 TEOUR ROR SNRIPR
ETNRY QNG 68Q;

A f

B. 12

C 2

D e«
@ AeR(concave) 04E QIR ﬁEﬂIB EQETS

ol

A. 99016Q9R QSR UERAGIGERI
B. QS0IEROREIRINQIIAYE Q60
C. Q68 QIS9P YR ERAGRTIER
D. f6¢IQEegeenfaena@) -

$85-2017-18 - C



31, An electric current of S amperes is divided into 31, 5A QQY66QI€ GReqIe ueea SeriE sle

3.

33.

three branches, along three wires of same
material with same cross-section but with their
tengths in the proportion of 1:2:3. Then the
currentin the middle branch will be;

A 30A

11

B. 10 A
11

C. EA
i

D. 235A

An 80watt lamp is connected to a 220 volt povwet
supply. Its resistanceis;

A 1210Q2
B. 60002
C. 605Q2
D. 4840

Two resistances 102 and 3Q are comnected in
parallel across a battery. If there is a currént of

0.2A in the 105) resistor, the emf of the battery

A

B. 2.2volt

C. 1.8volt

D. 2.6volt

Which of the following has maximum number
of molecules?

A7 grgﬁnsni!mgen (g)

B. 23 grams nitrous oxide (g)

C. 2 grams Hydragen (g)

D. 16gramsoxygen(g)

32.

33.

34.

an

0106 18 6RIGER! | 618 018 BRI AR QG
02l QAP JYER0R SRIRIYMIGER CANRR
s8dua AQ010 1:2:3. 666Q AR GIRGER FQYR,
69100 CRIa689;

30

A, 1

A

}2,
11

15
I}

D. 25A
4@ 80 GIc FQUG, SRR 220 volt 0L AFE TEAG -
QAR 1RCER §QUe gPeaIR 666 ?

A 12100

B. 6000

C. - 6050

D. 4%4Q

1005 30 588 0asaID gosa] SAIBR
QUEQ 4R QUECH! aBe '6QId QIEIGE | a8
100 0106R 024 §¢46, 6910 gAIES 29 666@
QUSFE R emf 6766 629 7

2volt

2.2 volt
1.8 volt
2.6volt

Femee Ats ceaten 2gareav adiye 7

v 0w p»

A. 7THASRSIORIR SN
B. 23 GF|RIRTY ARG SN
C. 2gFQaaIR g

D. 16PABFRIA NG
§55%2017-18-C



35. Which of the following pairis isoelectronic? 35. Rl ﬁﬂqﬁﬁﬁsmﬁf‘ m&ﬁi%@ﬁﬂ- 1

A. CO,.NO, A. CO,,NO,
B. NO,,C0, B. NO,,CO,
C. CO,CN- C. CO,CN”
D. $0,,CO, D. S0,,CO0,
36. Which of the following is not an exothermic 6. 6RG AIARRR QRAUR G aqrmn;_sf-?
reaction’ A CaCO,~Ca0+CO,
A. CaC0,~Ca0+GO,. B. CH,+20,~C0,+2H,0

C. HCl+NaOH—NaCl+H,0
D. N+3H,»2NH,H,

B. CHg+20,CO,+2H,0
C. HCl+NaOH-»NaCl+H,0
b. N,+3H,~»2NH, 37. QRasfgea!

37. Selecttheincorrect statement. A ' C,H, & salsRcneaenNd
A. C,Hydoesnothaveany isomer.

B. HCOOCH, 46" CH,COOH <@ 68&@
B. HCOOCH, and CH,COOH are not same ) '

60R0T60e Q6K -

Organic compoinds
C. CH,0 T6Q06a6Ql6A600a sdiiieald

C. There is no organic compound with formula .
CH,0 D. C:,H,, §QQR0 7 -2 BRI
D. GyH, has two 7 - bonds
38. What Is the correct order of P" of aqueous 35, RC6RYSIAPAGFAAGRALIRAORP" A

solution of thie following salts? 6Raie ?

A. NaCl=Na,CO,=NH,C A. NaCl=Ng,CO,=NH,Cl
B. NaCl<Ng,CO,<NHCl B. NaCl<Na,CO,<NH,Cl
C. NH,C1<Na2,CO,<NaCl C. NH4c1<NQ,co,<_Nat:1
D. NH,Cl<NaCl<Ns,CO, D, NH,Cl<NaCl<Na,CO,

39. Which of the following has oxygen atom in zero 49, ﬁ"] FIUQ_SF?Q.@GR ZFRIF TRAIER QI0E ey

oxidation number? g ?

A. Hydrogenperoxide A, FREEKRAE ETAGIRG,
B. Ozone B. GealR

C. Water C. oF

D. Oxygendiftuoride D. HR6RRGIQELNGR

(12) $55.2017-18-C



40.

41.

42.

43.

Which of the following shows addltion
reaction?

A CH,

B. GH,

C. CH,

D. CH,

In order to prepare hard water from pure water
which of the following salt may be added?

A, CaCl,

B. MgCl,

C. MgSO,

D. Allofthese

Gases causingglobsl warmingare__ .

A.. CO,,CH,, N,,0,

B. C€O,,CH,,water vapour

C. CO,,CH,, N,,O, and water vapour

D. €0,,CO,CH,, N,

‘X*is a substance which is soluble in water and
its aqueous solution turns red litmus blue and
pmdzze;es H; an reaction with zinc.Itis prepared
by electrolysis of NaCl (aq:). Whatis X?

A. HNO,

NaClO,

NaOH

NH,OH

c ow

Place of gold in modern periodic table

s-black
p-block
d-block
f-block

0w > o

40.

41.

42,

43,

“I

(13}

B
C. "d-block
D

fic)eriq 6R6l 6RICR 6N PERAI QAU ?
A. CH,
B. CH,
C. CH,
D. CH,

8 QR 'HOeR 50 0Rae aRIaICT sael ed
QIRLIR FAUIRCISR ?

A, CaCl,

B. MgCl,

C. . MgS0,

D. WERW

QIgee ageIqE eqyel sugdasenl
A. CO,,CH,, N;0,

B, Ct_),,(if}{d,'m’@IQ

C. C0,,CH,, N,,0;4¢° @MEIQ1]

D. C0,,CO,CH,, N,

X’ GRSR QREI | YEIQ ORIA QP8 RIR
ﬁmﬂgm@ééa € zinc SE8G GORAI SR B,
G97 @6Q | @I NaCl & ema geag J9ue,
Seqaaaeden gge eauad| Xeead_

A. HNO, -'

B. NaClO,

C. .NaOH ,

D. NH,0H
FROMAaaEAIRIGR .
A. s-block

. p-block

. f-block

§85-2017:18-C



45,

46.

47.

48,

‘49.

Which of the following has the formula KO, ?

A. Porassium suboxide

B. Potassium peroxide
C. Potassium superoxide
D. Kaliumoxide
~CH;
TUPAC nameof CH,= CH,,....~ BL. Is

. 3-Bromo—3-methylprop—i—ene

A

B: 3-Bromobut—3—ene

C. 2-Bromobut—3—ene

D. 2—Bromoprqp—lf—ene
Which of the following organisms belongs to the
kingdom monera?

A. Amoeba

B. Parameium

C. Mycoplasma

D. Diatom

What is the function of phloem parenchyma?
A. Growth

B. Celldivision

C. Storage

D. Transportoffood materials

Which of the following increases the water 49

holding capadty of the soil?
A. Bloom
B. Clay

C. Humus

D. Sand

45'

46.

a.

(14)

KO, 606 6615060600 ?
A. 68101260 IRERAIRG,
B. 6Q51Q0C| 600G
C. 6URAAYLNTQIRE,
D. YRGFBQARE

_-CH,
CH,=CHZ @ IUPACRIS'@?

. 3-Bromo - 3—-methylprop—I1-ene
. 3-Bromobut—3—ene

A
B
C. 2-Bromobui~3-ene
D

D. Q»Brmgopmp-—l-ene

ferye 6ael@1e FIsRRI ed ABED ?
A. @l

B. €oURdan

C. AIRERIYRAI

b, GREER

s asenaiarsedaiiation eea ?

A oF

B. 60EFQIRS
c. @ass
D. SIGH6TRGI
Ferle cae ages SRR aRIea SFRIg ]S
QoI ? -
A, QU
B. @igd
C. QR
D. QRS
§65 - 2017-18-C



50. Which of the following Is not necessary forlight 58, 2IEmI S6gAR 2isAIR G FRa femye |

reaction in photosynthesis. - SRE0 2RNIOMS P
A. Light A TERIR
B. Carbondioxide B. FIRRIF
C. Water C. of
D. Chlorophyll D. aé@ﬁs:
51. In.the absence of oxygen which product is 51. FRIAR AEIBeq AIGQER 2FE Arasam
formed from pyruvic acid in muscle cells? sqigcn 3.9579@9 SR 247
A. Febanol A GHAR
B. Carbondioxide and water B. 2FIQRAIFBER-
C. Lacticacid C. MREREE]
D. Methylalcohol D. AR BIREHINR,
52. Which of the following is not a parthenocarpic 52 Heqie oRgpe Aug caele Aade R
fruit? s ?
A. Banana’ A; SR
B. Apple B
C. Orings C. @fwl
D. Mango B =
53; Which revolution played important role in the 53 RO HUAR WIRHAAY QLR AIE! 6061 IR
production of new varities of food crops? ﬂwqﬁm R ?
A. Whiterevolution A 6
B. Red rev‘olution B. SRRO¥E
C. WAI

C. Greenrevolution

D. RUQRAYe 6ReE R6d|
54. 60l B PBtERIENA QIR AURR QIR €6GE

D. Nopeoftheabove
54. The intercellular space of which tissue Is filled

with lignin? 6QiRaN ?

A. Collenchyma A, SQIERR QIRA
B. Parenchyma B. U6QRQIRA

C. Arenchyma C. BEaRAIRAI
D. Schlerenchyma D. 66RERR AR

(15) §§§ - 2017-18-C



55. Whatis the phenotypic ratio of F,generationof 55. GRSRE QYR aQeR Gaeadsa F, 9fea

56.

57.

58.

59,

Mendel’s dihybrid cross?
A (31
B. (1:2:1)

c. 121y
D. 3:1

How many secondary ipermntucytes' are 5¢.

required to form 400 spermatozoa?
A. 100
B. 200
C. 300
D. 400

Which of the following hormeone is the other
nameof LH?

A. TSH

B. ICSH

C. ACTH

D. FSH

Which vitamin is produced by Escherichia coli

presentinourintestine?
A, Bg

B
C. B,
D

What is the name of the third ventricle of 5%

human brain?
A. Diocoel
B. Rhombocoel
C. Rhinocoel
D

. Paracoel

57,

58.

(18)

QENFIE 2RCIC 6REE 7

A 31)

B. (1:2:1)

c. a2y

D. 31

400 31§ YR 6LITIET 636017 Go1ae R
zIeene ?

A. 100

B. 200

C. 300

D. 400

6518 2RCFIRFIRG FRIGERET LHA ARMIRA ?
A. TSH

B. ICSH

C. ACTH
D. FSH

21 2GARSR RLYS! Escherichia coli 6@E
feifieggeedant ?

A. B

B. B,

C. B,

D B,

éﬁanﬁm epRFRaaMAR’d ?
A €1RE3R

B. 6QUGAIAR,

C. URCAIRR

D. AR

§$5 - 2017-18-C



60. Whichofthe féllowiné statement is not correct? 60. @Gﬂlﬁ e a8t 6& e

61. Which of the foilovélng factor is a produced g

62. In 2016 Human Development Report published

64.

A.

B‘.

C.

D.

Flow of energy is unidirectional
Lindeman postulated ten percent law
Manganese is a macronutrient

Protein isamacronutrient.

means of preduction?

A,

B‘
C.
D.

Land
Labour

Capital
Organisation

by UNDP, India has been placed at

A

B.
C.

D.

'130th position with 0.609 score

135th position with 0.608 score
131th position with 0.624 score
132th position with 0.624 score

g?

A. 999992 ars

B. R6971A 619660 AAAgann afesm
C. FITIRG @ IR 6TITR

D. qSQARgR AR

ROMYE AU QgIERa 606! ARIR AYRRR
Qe ARNAASS |

A 9f
B." gfl
c. g8
D. €00

. UNDP q:él geidsie 2016 AR QI SRQEEQ

Qeeagie_____

A. 1309AgR0.603 6AQAR -
B. 135619/ 0.60869190QE
C 1319#1@#0.6246%@@1@
D. 132 @ﬂq'lﬁlo.ﬁmsfémcae

Whichof the following s not traewithrespectto g3 feoiqy 50 QUIRFIRIGRIA SEIRRI CIETSERY
Pradhan Mantri Jan'Dhan Yojana? .

A.
B.
C.
D.

Which ‘of the following deposits with bank 64.

Zerobalance account
Lifecoverage of Rs.30000/-
Aﬁc_idcntql insurance of rupees onelakh

No interest on deposit

offers cheque facility?

A

B
C.
D

Time deposit

. Recuring deposit

Demand deposit

None ofthe above

aeg?
A SRISAIS!

B. - 300002606 RIQ AIOAIF I 21
C. WRESARQITE eI ZFIRG.

D. FONQIQRIAEER

PR FORYe CAIGER AUG 6R6E6R 606,
qiulega?

A. Qatesl

B. gRBA00 &

C. cRaieal

D. ag6aIs PRI 6AEE REL ?

§§5-2017-18-C -



65.

66.

67.

65, SEIEG8EGER ¥R aam 85R Ale sERYR

GDP is the total volume of ____ product

produced during an acoln'ﬂng year in 2 B SRIE IR GDE GBI
country. A. SN E69

A. Allgoodsandservices B. IF8Q9I6 69 BaM

B. Allfinal goods and services C. "I TR €362

C. Allintermidiate goods and services .
. D. QF9ePie B UneR @Y 6Lk
D. Allintermidiate and final goods & services '

Public Distribution System means distribution 66, IRRIA1 &F QUeYIQ 2d g ARY

of esential commodities to a large number of ' ERIRINAIPRR GRTGIT AIIAGR 2A0H
people through a network of fair-price shops on RINER LLA'WR  RRAURSR ASHPNIR
a recurring basis. The commodities distributed 29GP0 04 Q8! @ 067 24ag) B690
under thesystem are W eRml

(5) Wheat, () Rice, il Pulses, (i¥) Sugar () S2F, (i) SIER, (i) S, (iv) OF

A. (i)., (ii} and (iif) A. (), (i) 8 (i)

B. (i), (ii)2nd (iv) B. (),@)8(wv)

C. (i), (iii) B(iv)
D. (,(ii)B(v)

GC. (i), (i) and (iv)
D. (), (i) and (iv)

Consumer Protection Act, 1986 -provides o2 1985 €@ gas| mﬁm m gela eaIgd
effective safeguards against different types of ﬁ'siasa TRYIGRSIFIR SaICi 6201aE | 6af

exploitations. These exploitations are fn the  6SIGKIGPRRAUIEEAR.
formaf o gFades
(1) Defective goods (il) @A 62
1)) Deﬁ_c'lentservir.ea (1) 2R LR AR
(iii) Uflfair trade practices ﬂeli-‘lﬂ%ﬁm'ﬁ' 59‘?‘
Which aneistrue? o (0 poe

A, (DB
A. (i)and(ii) R——

B. (ii)® (ii)

B. (ii)and(iii) ;
' C. (i), Gy 8(ii)
C. (i), (i) and (iii) ”

) D. 6RQ%()
D. (i)only

(18] §5S -2017-18-C



8. "ﬁ;'hich of the following stdtement is trae for - 68. ﬁSF‘]}Q (A1) 2171 ER6IE 75 ZlcAlR QRIS

69.

70.

71.

. NITI Ayog?

(i) ltﬁllworknaThﬁkTank

(ii) It wili allocate funds to the Central and
State Government.

(iif) It will promote co-operative federalism

(iv) 1t will expedite emplementation of key
‘projects/schemes

A. G)and(ii)

B. (if)and (iii)

C. (iii)and (iv)
(i), (iii) and (iv)

Arrange the following four planets according to

 thelr increasing distance from the sun:

1. Venlis, Z.MEra, 3.Earhh, 4.ercnry |
A 1,2,3,4
B. 4,1,3,2
C. 2,3;4,1
D. 2,4,3,1

‘Which one of the following volcanoes is situated  70.

in Mexico?
A. Etna

B. Semeru
C. Colima
D. Purace

Which country is known as “the Land of 7.

thoussnd Lakes™?
A. Treland

B. _Finizind

C. 'Scottland

D. Switzer Land

19 .

geam ?

(i) 4RI R TEFFSR NP Rl REe

(1) 421602 BAIRI AR Zd0ar oo

(ili) 92| SAND ENA G rode ofie

(iv) 42! A8 999 / Of6DIGR G5ea Qldinas
Qoo afe

A. ()80

B. (ii)O(ii)

C.. (ii) B(Gv)

D. (i), i) 8(iv)

69. QENOI] GeQ QR TRAISR FerIs PdsaId 0]

Qe

LR, 2.AGM, 3.9%Q1 4.9
A 1,2,3,4

B. 4,1,3,2

C. 2,3,4,1

D. 2,4,3,1

oS QRINIGRR FRIY 6ReT srrdsaisa
207 |
A. R

B. 6Q66Q

C. &anl

D. gsaq

6REI6R4R "ATY BOR SR ERIR QRIAN ?

A. BERIS

B. deqis

C. wRig

D. RecmYe

55 - 2017-18 - C



73.

74.

75.

76.

On which river Kzribe dem Is loczted?
A. Hudson River

B. NigerRiver

C. ZambaziRiver

D. NileRiver

Between which of the two islands the Sunda
Straitis situated?

A. Javaand Sumatra

B. Javaand Bomeo

C. Sumatraand Bormeo

D. Little Andaman and Carl Nicobar
The Gulf of Mannarislocatedin the:
A. BayofBengal

B. ArabianSea

C. GulfofKhombat

D. AndamanSea

By which of the following rivers the lands of 75.

Punjab and Haryana aredrrigated? -
A. Thelum, Beas, Sutlej

B. Ravi, Yamuna, Sutlej

C. Ravi; Beas, Siitlej

D. Jhelum, Beas, Ravi

2.

73.

74.

Which of the following palirs is correctly 7¢,

matched?

A. Durand Line - India and Myanmar
B. . Radoliff Line- India aud Palistan
C. McMohanLine-India andﬁepal

D. Markat Line - India and Afghanistan

(20)

QINOIFO10A GRE AR RESR ERYE ?
A. 9090 6%

B. AR@QRa

C. QARG

D. FRAG!
qmgnmsedqg@mmsamge?
A SRR

B. @014 50@06

C. IR 6aids

D. S684FIRCARFRIEN

FIRIR QAR SREOIER A ?

A, eeEhadcR

B. ZOQQe®

C. SAIF IR

D. BgFRaATR

aae ¢ edaie ¢f fsge sl FegRR @
QREGE cRIGA 7

A. 6ERF,650IC, AOFRR,

B, aif, O, J06RR,

C. QI5,6Q8IQ, WERR,

D: 6¢aF, 60219, 0%
ﬁsq@seai‘smﬁ@ﬁm1msmmﬁ§?
A. Q5I86061-Iae 6adAR

B. QUSGCERS - ARG BURYR

C. - FUIR 6FILR 6681 - NIGE B SRAIR

D. FIRRE6R%I- NG GIIRGR

$8§ - 2017-18 - C



2.

78.

79.

80.

B81.

Which of the following two islands are voleanic

islands?

A.
B.
C.

D.

Kavaratti and New Moor
Kavaratti and Bitra
Pamban and Barren

Barren and Narcondam

Balladilais famous for:

A
B.
C:

D.

Bauxite -
Coal
Iron Ore

Copper

Whatis Obra?

A.
B.
C.

D.

Which one of the fnllowiﬁg pairsis not correct? 80.

A

B
C.
D

Atomic Power Plant in Rajasthan
Thermal Power Plant in Uttar Pradesh
Atomic Power Plant in Kalpakkam

Hydro-¢lectric Project inuttar Pradesh

Kanha National Park - Madhya Pradesh

. Bandipur National Park - Karnataka

Ranthambore National Park - Gujurat

. SultanpurNational Pazk-.Ha.ryaiia

world?

A.
B.
C.

QOutbreak of the French Revolution
Outbreak of the Russian Revolution

Outbreak of the American . war of
“Independeﬁce
Outbreak of the Industrial Revolution

(21)

!

78.

79.

' Whyis the year 1789 famous in the history of the 1. -

fer)a eralgRE graaRIcEa g ?
A. ARIENIBRAR
B. QRIQNEEQ

C. GAREEYSRR

' D. N60R BRIQER FIF

st daegda ?

A. Qqqiés:

B. 6RIQR

C. REdes

D. o9l

elea?

A. ARYRATISR §560L

B. GRAYEAHACIR IS 52
C. QURARTSRR a@s@é

D. aaags@memeﬁaam

Fecie sealcIft Orned ?

A QIS GIETA QMR - FRIZERS
B. Q@R Q69 Qe - adIeG
C. GEEERINMIFAARIR - JReIs
D. GREINTR FETQIE - 2RAIS]

1789 (38l e efzigsn qta gde ?
A, TANEYR ALRER

B. Q850 atem

C. asnﬁimaenm@mgma@a@

D. fRegealemil
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$2. Whohad published the Communist Manifesto? 82 @FIIR@ARCCSSI A GRINAHLER ?

.A. CzarAlexanderIl A. GIQEHA SIERRFISIN

B. LeoTolstoy R. RGERE9

C. MaximGorkey C. AgAsaIe

D. Karl Marx and Friederich Engels D. QRIFIFIEETEENR wERT!

83. Who bad led the 1917 October Revolution in  83. §82IQ 1917 2eRPa Fgea 6rRER &Y

Russia? ERRIYSR ?
A. Rasputin A. QPR
B. Lenin B. 6RAR
C. Stalin C. kR
D. KarlMarx D. AR Al
84. Which European country had donsinated the 84. @61 QASQUTIA Gﬁ?ﬂ'ﬁ\‘l‘éﬁa‘l‘ﬂsa 20 A
colonisation of Vietnam? | gioreagea gaie S ebigm ?
A. Holland A QI8
B. Spain B. 69m
C. France C. gRd
D. Portugal D. geelm

85. How was the impact of the First WorldWaron  gc 1939 aigi G@ﬁﬁl e @qu QasaIae

the Eunropean :econom'y during 1930’s Mﬁaﬁs&g@lﬁﬁgﬁ ed GRISIQYRI ?
described? . | "
A. oRpudeTgyea
A. TheGreat Economic Recovery ;

B. agcadeees
B. TheGreat Economic Depression ‘ -
: C. dorade Yoo
C. The Great Economic Stability ade g

D. TheGreatopportunity for Economic progress D. Bidetainakeeqsas

8. Whoistheauthorof thebook ‘MeinKampp? 36, “SARIF (6FIArad) gaea 0d01@4?

A. Hitler A. 20RQ

B. Mussolini B. flsaRM
C. Napoleon C. Gﬁ‘SﬂlﬁﬂG’
D. Lenin D. 6RRR

(22) ' $s8-2017-18 -C



B7.

88.

39.

90.

91.

ln which session of the Indian Natienal

Congress was the ‘Purna Swaraj’ resoluton

passed?

A. Karachi Session

B. Lahore Session

C. MadzasSession

D. Bombay Session

Which of the following answer options is

written in correct chronological order of the

given events?

A. First Round Table Conference, Simon

Commission, Non-Cooperation Movement,

RowlattAct

B. Simon Commission, Rowlatt act, First Round
Table Conference, Non-C_oopera'tion
Movement _ '

C. Non-Cooperation Movement, .Simon
Commission, First Round Table Conference,
Rowlattact

D. Rowlatt act, Nﬂn—Coopﬂfation Muveu'icnt,

Simon Commission, First Round Table

Conference
Wha has written *Glta Govinda’?

'A. Upendra Bhanja
B. Jagannath Das
C. Jayadeva

D. SaralaDas
When did Germany surrender to the Aliies in
the World War II?

A. September, 1943

B. May,1945

C. August, 1945

D. December, 1946

When did Mﬁhatma Gandhi return to India
from South Africa?

A. 1914
B. 1915
C. 1916

D. 1917

87.

88.

89.

91,

(23)

ARG QIGK KCEAR CRE 2RBIRER
‘NG’ YIAR GE1E CRIRURI 7"

A. QOISIZREQER

B. RILIQ IR

C. FIGIE RGN

D. Q6RIZREIER

Famye aa §eT Goe 6aalt6a FaaGR!
acagieadranapasnsndaes ?

A. P8R COIREEER 6F0R, URFR @faR,

AARCAA LR, QBRI QR |

B. QGFR QSR , GIBAE, BIGR, TUA 61N
ECQR 6SOR, BAVCLC IR |

C. BCReakl ARG, JRFR,. /A0, 9e IR

SPQR6S0R, QB AIG ISR

D. QUBRIR '_ala@\, FALETNG TSR, fa[agﬁ%
R, YEF SRIREER 6F0R |

‘TR A QAR T 7

A GEUQRS

B. @dqleaid

C. Q9669

D, dewiad

Goa Dggaca 679 @rip fedas awsa
Aigandaeqgm ?
A. 696QAR, 1943

"B. €61 1945

C. BN, 1945

D. G6QR, 1946

Aol 6969 efa 2ER aleeq
EEPRYSR ?

A. 1914

B. 1915
C. 1916
D. 1917
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92.

93.

04,

95.

Which one of the following statements is not
true?

A. RajaRamMohanRaoywasaking

B. Raja Ram Mohan Roy was the founder of
the Brahmo Samaj

C. Raja Ram Mohan Roy was a socio-religious
reformer _

D. Raja ﬁam Mohan Roy supported the abolition
of the practice of sati.

Who accords recognition to a newly formed
Political Party?

A. ThePresident -

B. The Parliamnet

C. Election CommissionofIndia

D. ThePrime Minister

Which of the following added the ‘Fundamental
Duties’ to our constitution?

A. ‘44thAmendment

B. 73rd Amendement

. C. B86thAmendment

D. 42nd Amendment
By whom the Vice President of India is elected?
A. Elected meibers .of Parliament
B. All members.ofPa-Iliament
C. Meriibers of Rajya Sabha
D. Elected members of State Legislative
Assemblies
Which of the following mentions “Directive
principles of State policy”?
A. Articles3to1l
. Articles 121035

B
C. Articles36to51
D. Articles19t027

92.

93.

94.

fir) gea Seadrire wes 6rd saife Q@

f68 |
A. AR AUACAINR QA FEE1 UG A6R

B. QI6IQIFEARA NG I RAIGH IENG! &R

C. QUG CHFBAIRA QIS S661 MF] 8 QFlR TSR
30

D. QIR AFEAIRE 1A A6 g8l Bseas R
2 atd 3

A2 E2IR TR CEINYT URMTR 0RG ST
JUR QB ?

A Q8T

B. ¢¢

C. SIeeR Gié'réemm

D. QuRFR |

Ferge cacle ‘eflie edley gy’ .afura
ZBRR ety ?

A 44GILEER

B, TICATEIRIR

95.

C. 866FIEHRIA

D. 426F1PsaR

sedine Tl GIoeR GEAIRS F6F0
geB ? ' |

A, TAGARTPE A8

' B. T0QQFBLEY

96.

(24)

C. SIMeRQLe!

D. U éeﬁa‘_gammsa Adiveaey

feie cael UIGRe algniﬁ émﬂﬁq@a
ediaef ?

A. 13§11
. UGI12935.

B
C. AN3I6QST
D. ¥el19627
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o7. Which of the following is a challenge to
1

National Integration?
A. Fedetalism

B. Regionalism

C. Democracy

D. Social Justice
Which of the following is a National Political
Party? .
A. Bahaujan Samaj Party.
B. RestriyaJanata Dal

8.

C. Trinamool Congres
D. BijuJanataDal
99. When was- the “ Financial Emergency”
declared in Indla? |
A, 1975
B. 1985
C. 1995

D. Never,

100. From which of the following cminiriés the! -

concept of “lndependence of Judiciary has
been borrowed by India? |

A. 'Engl_and_
B. Canada
C. Switzerland
D. America

97. ﬁeqsanuqsm‘@mommgwaa@m
A rameie
B. BIBRGQIQ
C ea
D. YITGEE
98, P66)D6ReE R QIETA AIRIFGER 0q ?
A 'eq'mqmiamé‘ |
B. QNG eE0I0R
C. QeRResaa
D, 3qRR0I00

- 99. QIRPER 6R6Q. ‘YR agp TRGE satedr

RAUAIRYR ?
1975
B, 1985
C 1995°
- D. 6R6Q6Q00R

A.

'100. 6961 60619 ‘FUSTRAIR IRUFH!’ VA ARG

ad2@l.
A aRe
B. GIRIGI
C. eeonis
D. BISARRI

kg —

@l
(25)
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